Problem set 2
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1 Prove thet, For any infec&er n, 2.|n(n+1\ :

l.Su??ose_ P i prime, i-e. ?{o\lo = r‘>{c\ Vf‘)llo for

in'\‘eaex‘s o, b, and eF>i. Prove That for \'v\‘\Teﬂers a,b
?=ab = (‘F=i°‘ N ?=ilo§ .

3. For in‘\éc‘}ers d,a,b, prove Yhat-

(dio A alb)y=r d|b.

4 Prove that 'gor l‘h"\‘eaers ol, Mm,n, Y, and S,

c“m 'S:} cllrm—\—-sn :
d [n
5. Is & true or-?alse?

Yo O\na l'v\'[,'eﬂer O\,L, 6\0«'0——_}(6“7\ Vé“’\

6- Prove "Hr‘\m'{','gof‘ Qm?! (n"(?eaer‘ n>i y

N 1'10«5 oo N ‘nas o o\fv\'sor' o‘,/
d visor d such that Xéi such that

1<d<n i<d/5 Jn
F . Pove For O‘ng ?osi'Lfve real numbers / \6 )
=g 2 T
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